
Bevestigingsmateriaal

Rood gedrukte referenties: nieuwe producten

934

Toepassing Toepassing

P3
1+

 k
ab

el
go

ot

C
ab

lo
fil

 d
ra

ad
go

ot

SS
L 

ka
be

lb
aa

n

G
LO

-4
 k

ab
el

la
dd

er

SL
B

 s
ch

ee
ps

la
dd

er

Sw
ift

s 
in

du
st

rie
le

 k
ab

el
la

dd
er

D
ra

ad
st

an
go

ph
an

gi
ng

R
21

/R
41

/P
21

S/
U

-5
0/

U
-5

5/
U

-6
0

P3
1+

 k
ab

el
go

ot

C
ab

lo
fil

 d
ra

ad
go

ot

SS
L 

ka
be

lb
aa

n

G
LO

-4
 k

ab
el

la
dd

er

SL
B

 s
ch

ee
ps

la
dd

er

Sw
ift

s 
in

du
st

rie
le

 k
ab

el
la

dd
er

D
ra

ad
st

an
go

ph
an

gi
ng

R
21

/R
41

/P
21

S/
U

-5
0/

U
-5

5/
U

-6
0

SDZ SDZ SDZ SDZ SDZ SDZ SDZ SDZ SDZ SDZ SDZ SDZ

THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ THVZ

RVS RVS RVS RVS RVS RVS RVS RVS RVS RVS RVS RVS

Ø mm lengte 
mm

100
SEND

23
EZ

30

THVZ
ZnNi

15
RVS
316

15
RVS
316

30

THVZ
ZnNi

100
SEND

23
EZ lengte 

mm Ø mm

Multiclip VG349252 4 4 4 Draadstang

4 4 CM801704 VG350456 1000 M6 Draadstang M6 (3000N) 

Zeskantmoer 4 4 4 CM801714 VG350457 8234008 1000 M8 Draadstang M8 (3000N)

Zeskantmoer M6 M6 8019908 8069908 8049908 4 4 4 4 4 4 4 4 4 4192-0100 VG350458 8234000 1000 M10 Draadstang M10 (5800N)

Zeskantmoer M8 M8 8313060 8069907 8049907 4 4 4 4 4 4 VG350459 8238000 1000 M12 Draadstang M12 

Zeskantmoer M10 M10 8200300 8069906 8049906 4 4 4 4 4 4 
Zeskantmoer M12 M12 8238300 CM801634 4 4 4 4 4 8234108 2000 M8 Draadstang M8 (3000N)

4 4 4 8234100 2000 M10 Draadstang M10 (5800N)

Kraagmoer

Kraagmoer M6 M6 8200200 8069915 CM801204 4 4 4 4 4 4 4 8234206 3000 M6 Draadstang M6 (3000N) 

Kraagmoer M8 M8 CM801211 4 4 4 8234208 3000 M8 Draadstang M8 (3000N)

Kraagmoer M10 M10 CM801221 4 4 4 4 4 8234200 3000 M10 Draadstang M10 (5800N)

Kraagschroef Zeskantbout

Kraagschroef  M6 x 10 M6 10 8200100 4 4 4 4 4 8069905 12 M6 Zeskantbout M6 x 12

Kraagschroef  + kraagmoer M6 10 8200102 4 4 4

4 4 8069918 20 M6 Zeskantbout M6 x 20

Slotbout

Slotbout M8x16 M8 16 8713071 4 4 4 CM801324 8069903 20 M8 Zeskantbout M8 x 20

Slotbout M8x25 M8 16 4 4 4 8313020 20 M8 Zeskantbout M8 x 25

Slotbout M8x35 M8 35 8313070 8069941 4 4 8049936 CM801341 40 M8 Zeskantbout M8 x 40

Slotbout M10x25 M10 25 8069935 8049912 4 4 4 

4 4 4 4 8049952 8069920 CM801361 20 M10 Zeskantbout M10 x 20

Slotbout + kraagmoer 8069938 30 M10 Zeskantbout M10 x 30

Slotbout+kraagmoer M6 x 10 M6 10 VG346895 4 8069900 80 M10 Zeskantbout M10 x 80

Slotbout+kraagmoer M6 x 12 M6 12 CM801001 CM350401 CM801004 4 4 
Slotbout+kraagmoer M6 x 20 M6 20 CM801011 CM350402 CM801014 4 4 CM801404 CM801401 25 M12 Zeskantbout M12 x 25

Slotbout+kraagmoer M6 x 30 M6 30 CM801021 4 
Verlengnippel

Slotbout+kraagmoer M10 x 20 M10 20 LFGM10 LFSM10 4 4 4 4 4 VG350431 8234508 30 M8 Verlengnippel M8 x 30

4 4 4 VG350432 8234500 30 M10 Verlengnippel M10 x 30

Sluitring 4 VG350433 8238500 36 M12 Verlengnippel M12 x 36

Sluitring M6 M6 8200800 8363031 8049929 4 4 4 4 4

4 8237200 M10 Schuifmoer

Sluitring M8 (8,4 x 20 x 1,5) M8 20 8313029 8049910 4 4 4 4 4 8313010 M8 Ankermoer

Sluitring M8 (8,4 x 25 x 2) M8 25 8313030 8069943 4 4 4 4 CM801211 M8 Kartelmoer

4 8233200 M10 Oogbout

Sluitring M10 (10,5 x 21 x 2) M10 21 8200400 8069909 8049909 4 4 4 4 4 4 8313000 M5 Glijmoer

Sluitring M10 (10,5 x 30 x 2,5) M10 30 8313090 8069946 4 4 Bevestigingset

Sluitring M10 (10,5 x 40 x 2,5) 8313095 4 4 4 LFCOVSM6 LFCOVGM6 M6 Bevest. set dekseloverlap M6

Sluitring M12 M12 CM801531 CM801534 4 4 4 4 LFDVSM6 LFDVGM6 M6 Bevest. set scheid.schot M6 

CB2022-2023_912-959_CH09_NL_v9.indd   23CB2022-2023_912-959_CH09_NL_v9.indd   23 15/03/20223   17:3415/03/20223   17:34




